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1. YL HRRE (2« REUEAFR(mLA 1: 5~10 ILLE] CEIHREXZ) 0.1g, AIA 1mL 32HGRD I
PEROGR, 213 )5 FRBGRE S 1mL, B ERERIE )Y 1B Smin, T 25°C, 5000g &> 10min, HX
R .

2. WM. HEEAHMOECE (1004« RBURARR (mL) 2 500%1000: 1 LR (A 500 FT4HMIINA 1mL
TREURD, VKA S B A0M (The 300w, #8753 #b, WG 7 7P, EBTIA) 3min) JETENERIE S L
Z% 5min, T 25°C, 5000g &> 10min, X _EZEE.
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HHEAR:
a. FAMEAREELIERKITHEARDT
FrEmiZE: y=0.22x +0.0065 R? = 0.9978
1. HREATETH
VE &8 (pg/mgprot) = (AA-0.0065) +0.22xV i+ (V ¥ExCpr)
=9.09x (AA-0.0065) = Cpr
2. BB ATETH
VE & (pg/g) = (AA-0.0065) +0.22xV i+ (V BExw=V FEED
=9.09x (AA-0.0065) +W
3. R R4I M B R
VE & (pg/10%cel) = (AA-0.0065) +0.22xV i+ (V FExZHEE-V FEED
=9.09x (AA-0.0065) + iU E
4. FERRARARRR
VE &8 (pg/mL) = (AA-0.0065) +0.22xV 2 H+V #x10
=90.9x (AA-0.0065)
V e JRPEARFR, 0.2mLs VAR IMAREARARL, 0.amL; V BEEE: IIANIREUBARL, 1mL; Cpr: AR
B, mg/mL; W: FEAJRE, g

b. F 96 FALMMEBMIHEARIWT
FrEMIZE: y=0.11x + 0.0065 R2 = 0.9978
1. EREOSEIE
VE &8 (pg/mgprot) = (AA-0.0065) +0.11xV i+ (V #ExCpr)
=18.18x (AA-0.0065) + Cpr
2. IBFEARR R
VE &8 (pg/g) = (AA-0.0065) +0.11xV 5+ (V FExW=V FEED
=18.18x (AA-0.0065) +W
3. IRAIM I E
VE &8 (pg/10%cell) = (AA-0.0065) +0.11xV i+ (V FExAIMEE -V FEED
=18.18x (AA-0.0065) + HHfi%E
4. ZREARARIR T
VE &8 (pg/mbL) = (AA-0.0065) +0.11xV JZM+V FEx10
=181.8x (/AA-0.0065)
VR RBEER, 0.2mL; VEE: IIAEEARMAERL, 0.amL; VEER: IIARBGRAEE, 1mL; Cpr: AWK
B, mg/mL; W: FEAFE, g
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